CONSTRUCTION OF PARKING SHED AT SBK WOMEN'S UNIVERSITY SUB-CAMPUS KHUZDAR

Year 2021-2022

SARDAR BAHADUR KHAN WOMEN'S UNIVERSITY QUETTA.

Web: www.sbkwu.edu.pk

Telephone: 081-9213416

Tender from for the construction of parking shed at SBK women's university sub-campus Khuzdar.

- 1. Advertisement tender no PID_____
- 2. Last date of receipt of tender 11TH October, 2021 at 10:30 AM
- 3. Date of tender opening 11TH October, 2021 at 11:00 AM
- 4. Tender price Rs,1000/- (Non refundable)
- 5. Earnest Money 2 % of bid amount (Refundable)
- 6. Venue of Tender Aisha Hall V.C secretariat
- 7. Tender Documents may be downloaded from PPRA website or University Official Website (www.sbkwu.edu.pk).
- 8. (a) All sealed tenders must be submitted on single stage one envelop procedure and addressed to the Project Director SBK Women's University Pishin & Khuzdar.
 - (b) Conditional bids will be rejected.
 - (c) NO offer will be accepted if: -
 - i. It received after the date and time for its receipts
 - ii. Received without earnest money from the terms.
 - iii. The tender documents are un-signed.
 - iv. The tender is ambiguous
 - v. The offer is conditional
 - vi. The offer is from a firm black listed/suspected or removed from the approved list.
 - vii. The offer is received by telegram of fax
 - viii. The offer is received with shorter validity
 - ix. The offer is not conforming to specification indicated in the tender documents.
- 9. Earnest money @ 2% of the successful bidder will be retained as performance security till defect liability period which ends six (06) months after completion of the work.

10. Eligibility Criteria

- 1. Valid NTN no
- 2. Valid GST no
- 3. Non blacklisting firm affidavit
- 4. Valid Registration with PEC.

Detail of vendor

1.	Name& address of the supplier
2.	Sale tax Registration No
3.	Income Tax Registration No:
4.	Telephone No:
5.	Cell No:
6.	Bank challan:

.

SUMMARY OF COST SARDAR BAHADUR KHAN WOMEN'S UNIVERSITY SUB-CAMPUS KHUZDAR CONSTRUCTION OF PARKING SHED AT SBK WOMEN'S UNIVERSITY SUB-CAMPUS KHUZDAR S/N **DESCRIPTION** AMOUNT (Rs) **SCHEDULED ITEMS** A **CIVIL WORKS** Rs1,428,297.36 1 Percentage above or below on CSR-2018 -----2 (A) TOTAL (B) INCLUSION OF PREVAILING TAXES (BSTS @ 15%) G.TOTAL (A+B) **Amount in words:**

LIST OF ITEMS NOTE: - RATES SHOULD BE QUOTED WITH GST

S. No	MRS ITEM NO	DESCRIPTION	UNIT	QUANTITY	RATE (RS)	AMOUNT (RS)
1	3-54-1	Clearing the Site / jungle by cutting removing ,all shrubs ,trees and taking out entire roots and filling the hollows with earth dressing consolidation and watering the filling including stacking the serviceable material and disposal of unserviceable material lead up to 300 meters.	Sft	3580	3.90	13,962.00
2	3-21-b-2	Excavation in foundation of buildings and bridges including layout, dressing, refilling around structures with excavated earth, watering & ramming lead up to 100 ft. (30m) & lift up to 5 ft. (1.5m) B) Machinery ii) Ordinary soil	Cft	142	6.85	970.99
3	3-16 A	Filling, watering and ramming earth under floors with surplus earth from foundation, etc.	Cft	47	3.80	179.55
4	14-44	Providing, laying, watering and ramming brick ballast 1½ to 2"(40 mm to 50 mm) gauge mixed with 25 % sand, for floor foundation, complete in all respects	Cft	673	54.35	36,588.42
5	5 - 12a	Providing and laying in 1:2:4 Footing situ cement concrete using approved coarse sand and crushed aggregate having maximum size up to 3/4" (19mm)and down gauge in foundation including formwork using wooden braces and without wall ties, compaction, curing and removal of formwork	Cft	186	263.90	49,151.38
6	14-2-a-iii	Providing and laying 3" (50mm) nominal thick flooring 1:2:4 cement concrete floor using crushed aggregate 3/4" (19mm) and down gauge in ground floor laid in panels including formwork, consolidation, finishing and curing.	Sft	2040	68.75	140,250.00
7	9-1-d-i	Providing and laying 1:4:8 cement concrete block masonry using Coarse Sand and Approved crushed aggregate 3/4" (19mm) & down gauge in foundation, basement and plinth including scaffolding, raking out joints and curing.	Cft	402	188.55	75,797.10
9	28-45	Fabrication of heavy steel work with angle, tees, flat iron, round iron and sheet iron for making trusses, girders, tanks etc. including cutting, drilling riveting, handling, assembling and fixing but excluding erection in position	Kg	4500	144.05	648,158.92
10	28-46	Erection and fixing in position iron trusses and staging of water tank	Kg	4500	9.80	44,095.50
11	13-8-с	Providing and fixing corrugated G.I.	Sft	2208	152.70	337,161.60

TOTAL (A-SCHEDULE ITEMS)						
12	17-7 -1	Painting with ICI/Berger or equivalent super gloss synthetic enamel paint in two or more coats as per manufacturer's instructions on steel and iron work over and including the cost of priming coat, surface preparation, removing rust, scales and dust with wire brush in ground floor or basement. (@ at least 1.25Litre per 10 Sqm) Ground Floor	Sft	3003	27.30	81,981.90
		sheets with G.I. hooks, bolts, nuts, limpets and bitumen washers including cutting to required sizes and overlaps but without valleys and ridges (excluding cost of frame work in ground floor. 22-SWG				

Term & conditions

- 1. The rates to be quoted shall be inclusive of GST and all taxes.
- 2. Tender form should be filled in carefully and cutting/doubling be avoided. Conditional tender will not be entertained.
- 3. An affidavit on a non-judicial stamp paper valuing Rs100/- should be attached with the tender to the effect that the firm has never been indulged in any litigation or has never been black listed by any department or organization of the Govt.
- 4. Submission of any false statement concealing of information is likely to disqualify the bidder.
- 5. The vendor/vendors will be required to provide 2% call deposit (Refund able) of the total value of bid amount without which the bidder will be declared as non-responsive.
- 6. The rates to be quoted shall be inclusive of GST and all taxes. The estimates are being prepared as per Composite schedule of rate (CSR 2018) of Government of Balochistan.
- 7. Samples of the items where required should be provided by the vendor.
- 8. The quantity of the item can be increase or decrease by authority.

DECLARATION BY THE BIDDER

I Solemnly undertake that:

- a. Having read, understood & made myself aware of all the terms & condition mentioned in the bidding document & the rules, regulations & policies of the Government of Baluchistan, governing the procurement & financial matters, AGREE, ACCEPT & UNDERTAKE TO ABIDE BY THE SAME.
- b. The information provided in this form is correct to the best on my knowledge & in the event of change: details will be provided as soon as possible.

Name &Designation	
Signature	
Date	